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General Instructions :

1.  Answers of all questions are to be given ingthe"Ahswer-Book given to you.

2. 15 minute time has been allotted to readdhis Question Paper. The question paper will be distributed
at 02.15 p.m. From 02.15 p.m. to 02:30"p.m., the students will read the question paper only and
will not write any answer on theAnswer-Book during this period.

3.  Candidate must write his/her RelllNtumber on the first page of the Question Paper.

4.  Please check the Question Paper toiverity that the total pages and the total number of questions
contained in the Questiori Paper are the same as those printed on the top of the first page. Also
check to see that the gdestions are in sequential order.

5.  For the objective-type of questions, you have to choose any one of the four alternatives given in the
question, i.e. (A), (B), (C)and (D) and indicate your correct answer in the Answer-Book given to
you.

6.  All the questionsiineluding objective-type questions are to be answered within the allotted time
and no sepatate time limit is fixed for answering objective-type questions.

7.  Makidg afiysidentification mark in the Answer-Book or writing Roll Number anywhere other than

thefspecified places will lead to disqualification of the candidate.
8. 4Wiite your'Question Paper Code No. 67/0S/1-A on the Answer-Book.
9.4, (@), The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.
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SOLUTIONS EXCLUSIVELY ON
UNNATI EDUCATIONS

SCIENCE AND TECHNOLOGY
fasm wa drenfiret
(212)

Time : 22 Hours ] [ Maximum Marks _: 85
T : 21, 90 ] [ Yutier : 85
Note :

(i)  This question paper consists of 43 questions in all.

(i) All questions are compulsory.
(iii) Marks are given against each question.
(iv) Section - A consists of
(@) Q.No. 1 to 17 - Multiple Choice type questions (MCQs) carrying 4 mark each. Select and
write the most appropriate option out of the four options given in each‘of'these questions.
An internal choice has been provided in some of these questions.¥ ¥eu have to attempt
any one of the given choices in such questions.
(b) Q.No. 18 to 28 - Objective type questions. Q.No. 18 to 27 carry"2marks each (with 2 sub-
parts of 1 mark each) and Q.No. 28 carries 5 marks (with, 5 sub-parts of 1 mark each).
Attempt these questions as per the instructions given forieachiof the questions 18 to 28.
(v)  Section - B consists of

(a) Q.No. 29 to 34 - Very Short Answer type questions caftying 2 marks each to be answered in
the range of 30 to 50 words.

(b) Q.No. 35 to 41 - Short Answer type questions earrying 3 marks each to be answered in the
range of 50 to 80 words.

(c) Q.No. 42 to 43 - Long Answer typegquestions carrying 5 marks each to be answered in the
range of 80 to 120 words.

() THIA-TFH FA 43T L
(i) Gt T AfEE €1
(iii) I I T G ITH 37k I&T T T |
(iv) @US - H miHa € ;
(a) U HEAT 1 97 G TR ahedia YR & T © 3R Y 1 37 &1 T 1 30 9 T U9 | feu e
AR TIhegi,d Ty SUgE fasmed 1 =3 & fae g1 94 9 8 91 § ofidfe faeey fgu mu
1 U B gy fou U fashedl § 9 Sheel Tk fashed o1 &t S foramn g
(b) VYT GEAT 18 § 28 Th TS UhR & U & | WYT GE&AT 18 W 27 Tk YIS T 2 31k & &
(U 1 S & 2 3U-9TN o T1Y) 3TR W9 HEAT 28, 5 37l 1 ¥ (YAF 1 3F & 5 IT-9T &
1) Wk U9 18 | 28 % foru fau 7w f<sii o ST98R 39 U9l & S foard |
v) {BUe - ¥ wita T :
(2) ) U9 WEAT 29 | 34 T 31 TTY-IqT TR o EI-GF fehi o U ¢ | 37 Tl o IR 30 | 50 T&al

[N
=gy
~—"

T fgu M =fen |
(b) WY HEAT 35 W 41 T o-SHIT TR F A- SRl & T2 1 37 U1 o S 50 9 80 Vel

7 fou sH =ifeq |
(c) W9 WEAT 42 W 43 Tk <6 SUT TR & Ure-Uier 37ehi o U9 § | 37 T o ST 80 W 120 Irsal

7 fou s =ifeq |
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SECTION - A/ @UE - <h

Q.No. 1 to 17 are the Multiple Choice Questions of 1 mark each. An internal choice has been
provided in some of these questions. You have to attempt only one of the given choices in such
questions.

U9 WEAT 1 § 17 ok SgAcheuld Yeh o Ueh-Tgh 3(eh o YYT & | 37 U9 H § D UgHl ¥ NdNeh
fou 7w ¥, emuent U@ woAl ¥ fou o faeneul § @ ot Uek faehew @t & SuX feraer gy

1.  In ancient times people used to make measurements by using their :
(A) thumb (B) hand-span (C) first finger (D) alloft
=i el H AN A9 3 STANT hid o 370
(A) TS (B) e ©)

2.  Someone has written the mass of a body as given below in differ
written correctly as per rules ?

&xch of these is 1

(A) 100mg (B) 100 mg (©) 100/mg 100 mgs
fordt =Afad = U fUs & go2m™ &1 M, fafy= yr 9 @ﬁmﬁwaﬁ'—rmaﬁ
foran T 2
(A) 100mg (B) 100 mg (C (D) 100 mgs
3. (i) Inrespect of ionic compounds, w e following properties is incorrect ? 1

(A) they are solid and hard.
(B) their melting and boji
(C) they are soluble in or
(D) they are good«€omductor of electricity in molten state.
arafes Aifienl ) TN H F RIF G107 A T2
REC el
[ FererR 5 B ¢ |
et # oot 3 ¥
arereen # faga o 3r=s =eih ¥

OR / gt
o chlorine atoms share one of their electrons they both attain the stable configuration
of a noble gas which is :
(A) Neon (B) Argon (©) Krypton (D) Xenon
Ife & FANT THIY ST Th-Teh oI h1 HE FLd &, @ o aFi T Sehee 9 ot Lot
for=Ime 9T oY Hehd §, ST B ©

(A) T (B) A (C) Tl (D) SHA
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Identify which of the following is formed by transfer of electrons : 1
(A) Oxygen (B) Nitrogen
(C) Hydrogen (D) Sodium chloride

TN HIY o g & TR § frefatead § 9 oF a1 i oma €2 6
(A) SIS (B) TEgreM é
(C) ®IEgSH (D) Wifeaw FiNEe
OR / 3teraT
Consider the formation of a compound in the following mi A
Na*t +Cl~— X v

1 sodmm chloride

X in the above reaction is :

(A) solid sodium chloride

olten sodium chloride

HITT

(C) gaseous sodium chloride
Frfafad <n & et difre

Nat +Cl- -» X

SR rfferan
(A) (B) &d Hifead FNES

FARES (D) Tfed difead FRES

(©) (D) F

:ethe following atoms has the largest atomic radius ? 1

(A)

frfafeaa 8 @ forget wafreas e Ted sEi 2

C (B) N (C) O (D) F

[E]#fm
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SOLUTIONS EXCLUSIVELY ON
UNNATI EDUCATIONS

In the following set ups &) and (B) of an inclined plane on a table. 1
glass Layer
sheet
Sand

V///////////////////I V///////////////////I

If a pencil cell X" is released from equal heights on the inclined plane in
@) and (B) one by one, the correct observation would be :
\ surface

(B) the distance moved by the cell on the table is more in set cause this surface

offers less friction as compared to set up (B).
(C) the distance moved by the cell on the table is les because this surface

offers more friction as compared to set up .

(A) the distance moved by the cell on the table is more in set up

offers more friction as compared to the surface in set up (B)

(D) the distance moved by the cell on the tab et up (A because this surface

offers less friction as compared to the suxfac et up (B).
T B & SR T ATAR &AMd Th A @RE@EH:
@ f% @ C“ o

V///////////////////I

EFFG’QEH’ @zam@aﬁI ﬁﬁwmw@ﬁw—wmm

mmaﬁw@@wﬂ @ ¥ @feren € Fiifh SRl Hg T (B) Hi Wg i
3t Sor JEH I 2 |

é S R T H T U G2 @) H Afue € Hifh g8 Tag HesTd (B) i g H HH
T Y A T

TeeTy (@) H G 5N AN W T FI T G A § Hil(h I8 Hae YT (B) FHI qor H AU
HOUT FE A |

(D) ¥e3Td @) H el gRI Al R T I 7T g HH § il I8 e Ye3Tq (B) i I H HH =90
T A
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7. TheSIunitof ‘g is: 1
(A) N (B) Nm? kg~2 (C) ms~2 (D) m
‘o T SI AT ¥ :
(A) N (B) Nm? kg2 (C) ms~2 (D) m

8.  Which one of the following statements is not correct in regard of energy transformation ?
(A) Photosynthesis : Solar energy — Chemical energy of food

(B) Electric bulb : electric energy — Light energy
(C) Loudspeaker : electric energy — Sound energy
(D) Physical exercise : Chemical energy of food — Kinetic energy

Sl wae & Hew # ffafed § | -9 U ' TE ¢
(A) TERTT HIAH : WX el — HISH Y TEAER el
B) ford dcw : foga s — gohmet ‘

(
(C) wRE T : faga =it — &l S
(

D) YRIReh SR : YIS bl THREAER el — TSt SHell

)
)

9. Rate of doing work is called .
(A) Force (B) Displacement  (C)

(D) Motion
FE H FH S FEA |
(A) & (B) fereermae (D) T

10. A mirror always forms a diminished

% an object, wherever you place the object in 1
front of it. The mirror is :

(A) Plane Concave

(C) Convex ) None of these, as there is no mirror like this

T U BER foRelt a%g T &, TR T 3 T Fel off W, 98 T E
(A) HHAA (B) 3Todet

(©) sTa (D) ST H g e, i 380 St g o1 el 2|

11. (i) ing is not a digestive gland ? 1

(A) (B) Gastric gland
atic islets (D) Wall of intestine
H HA-F T U T 2
(B) Wi vify
I SATFAL (D) @i & deR

OR / 3tean

Which one of the following blood group is a universal donor ?

(A) A (B) B (C) AB (D) O

frefafed § @ SF-91 0 THg e e ¢ 2

(A) A (B) B (C) AB (D) O
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12. (i)  Which of the following is used as a male contraceptive device ? 1
(A) Vasectomy (B) Tubectomy
(C) Copper T (D) Hypophysectomy
frafafea & @ fraesh swEm R TRy gfe & w9 o foan < €2 ?a
(A) YehafehSed (SHRM)  (B) clrosed (TYsiwiH!)

(C) HRT (D) HfieRt I=5eA (
OR / 3rerat

(i) Which of the following human reproductive or,

esent in pair ?
(A) Vas deferens

(C) Cervix

e following is not a method of artificial propagation in plants ? 1

Cutting (B) Layering (€) Gootee (D) Budding

ﬁﬂﬁf@ﬁﬁﬁﬁ'—r ot fafy diel & S wifaw s =1 fafy & 82

(A) i TR (B) <T@ e MR (C) T 5N (D) Yo g-
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14. (i) The following chemical reaction shows the fermentation of carbohydrate like glucose 1
catalysed by an enzyme present in yeast.

Yeast
C6H1206(aq) _— |X|

What is likely to be the product of the reaction represented by ‘X’ ?

(A) CH,CH,OH+CO, (B) CH,OH +CO,

(C) C,H,CH,COOH +CO, (D) CH,COOH +CO,
freafafea Temfes st T deen de/adR w5t suffd # e S|
ferva =1 it ® |

I/ gHR

CeH1206,, ——— X \
X' gRI Tefye sifufonan =1 Seare @ i il WA § 2 &
(A) CH;CH,OH+CO, CH,OH
(C) C,H;CH,COOH+CO,
X
(i) Which of the word root given in Col&
carbon atoms given in Column-I ?

rectly matches with the number of

Column-I Column-II
No. of Carbon atom Word root
(A) 1 eth
(B) 2 but
©) 3 prop
(D) 4 meth

) 4

T e vssi B ¥ forget Wt fret swtera-1 # <t 118 e st st e

Hian-1 Hian-1I
FHT THTY H) F&AT LGRS
(A) 1 3
(B) 2 =L
© 3 T
(D) 4 et
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15.

16.

(i)

UNNATI EDUCATIONS

A four carbon containing compound Butanone has the functional group : 1
(A) —COOH (B) —CHO (¢ -—-CO- (D) —-OH
Tk 4 F1e I A =g H feramiel 998 -

(A) —COOH (B) —CHO (C) —-CO- (D) -OH
OR / 3teraT 6

The molecular formula of sixth member of homologous series of alkanes is :

(A) CgHyy (B)  CgHyyp (©) CeHyp )
TehHl st Fodid 07 % B3 T H aqTFUaEHEr%~
(A) C6Hl 4 (B) C6H12

‘ C HlO
f adaptive features in 1

Which one of the following statements is incorrect in
aquatic plants ?

(A) They have reduced root system.
(B) The leaves are thin and narrow.
(C) The shoot system is well organis
(D) Upper surface of leaf is co

et el H STEe & 9 [ 9 -9 HUT A T ?

(A)  Afashfgd gordst (S<)
(B) Ul veett =t 1

I € |

T HE H T Bl 7

(C) -

(D)

OR / 3terar
1sh help to :
Swim (B) Steer

C) Maintain Balance (D) All the above
TSl o 19 HeHs 8 ©

(A) T H (B) feum =mer |
(C) ¥He T @A | (D) SWIH |t

67/0S/1-212-A | 10 ; 3 [ Contd...

9899436384, 9654-279-279
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17. (i) The trapping of a layer of cool air at the ground level by an overlying layer of warm 1
and stagnant air is called :

(A) Thermal inversion (B) Global warming
(C) Incineration (D) Biological magnification
THEA T So YRS e feeel T ga, St a1 i Wd i Rt yad W fafid & <t
<l 39 YohH i el Sl ¢ :
(A) SHTE SR (B) df¥asw A
(C) &R (D) Sifasw sae=
OR / 3tgan

(i) Which one of the following is not an example of natural enviro
(A) Earthquakes (B) Floods
(C) Tsunami (D) Afforestation

frafafea § @ oM 91 wehfas qafaRois guensi &

2 marks each. Some of these questions
arts out of 4 sub-parts in such questions.

3Rl o P &1 T Uw § A D U9 uN SU-
HAA G IT-HI o YT HT 2l |

with the right option of Column - II. 1x2

have 4 sub-parts. You have to do
U9 WE&AT 18 | 27 qh TS
U & ¥, T U9=l o = SU-

18. Match Column - I state

Column - II
P) Kelvin
Q) Celsius
R) Pascal
S) Candela

| o1 ShicTH-11 o Tel fasheul ¥ faam wifsw
HieH-11

Column - I
(i)  SI unit of Pressur
(i) SI unito

(
(
(
(

[E]#fm
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19. Complete the following sentence by given options below. 1x2
[Attempt any 2 Parts from the following (i to iv)]
loss, chemical bonding, bad conductor, good conductor, gain)

i)  Atoms of elements in a molecule are held together by

(
(
(i) Metals form cations by of electrons.
(iii) Formation of anions by non-metals takes place with the of electron
(

iv) Ethyl alcohol is a of electricity in its aqueous solution.

Frefafed s 1 = o T fomed gr1 g wifs |

(Freafafam i D v § & fi & 9 =1 2 ) \o

(TR, TEES TEYH, Farcish, Yo, T &)

() THRAYHTE FWAY 5N Th A IS WA
(i) TEEEIEA gy AR SR
(iii) TRl I STETqY RO ST € |

(iv) Tfaa uehed sl Sera faeed faea gl

20. Write TRUE (T) for correct statement E (F) for incorrect statements. 1x2
[Attempt any two parts from fol ons (i to iv)]

nis?2, 8, 8

q

(i)  The electronic configuration

(i) In the formation

ium chloride, sodium atom gains one electron and chlorine
atom looses on ctr
S

(iii) Covalent bon
atoms.

Ethy,

ed by mutual sharing of equal number of electrons between two

lc uces H" ions in its aqueous solution.
(T) iR TTeta %A & o e85 (F) fafen)
[ (1) § (iv) ¥ 9 =l 1 9l w1 3 fafag)

1 ol fa=mg 2, 8, 8 ¥

difeay Feikiee & fmto &, difeaq W] T Soigeld T80l dl § U FlH WAy Th
EGCERCICIE S

TGS 3T 31 YLATIRT o He T G H goiagi+l o STIE T 9 a1 § |

(iv) T Uenied Sef faeed § HT oM 30— ol € |

[E]#fm

67/0S/1-212-A ] 12 S5 [ Contd..

9899436384, 9654-279-279
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21. Read the passage and answer the questions that follow it. ( 1x2
Human circulatory system consists of :
. Centrally located muscular pump called heart and

o Blood vessels which are tube-like structures connected to the heart, these are Arteries,
Veins and Capillaries.

Thick, elastic wall

Small
Lumen

Thin wall
Large
Lumen

Single \

cell &
wall

(i)  The blood vessels that carry blood from heart aei and those that

bring blood from various parts of the body to istermedas

(i) Name the thin structures that allows the
tissues.

el <Rl ey U T W (i) T (1) R
T 3 R o § frefatad s
e &g ¥ frud Tuitg v 5
o TR afewnd fet Tolt %

W%I ‘

materials between blood and

7 Bt € o) wea A 9 At € A e, fd qen

m, Jearey &
S s
() =T Y R A M el SR afewsii wl Yl ST & 3R IR & fafy= vl 9
YR Rl BT dh AN el SR AifgahRial ! el S B |

(i) ST NI FCEAT T A9 TARY S TR Td Sdehi % 7 TSl % SMEH-UH 1 84 <ot ¢

67/0S/1-212-A | 13 ; 3 [ Contd...
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22. Read the Passage and answer the Questions (i) and (ii) that follow it. 1x2

RTIs refer to infections of reproductive organs. These illnesses may occur due to poor genital
hygiene. For example, Poor menstrual hygiene among girls. Importantly, RTIs include the
illness that are transmitted from one Person to another Person during sexual contact and are
known as STDs.

(i)  Which one of the following is not STDs ?
(A) Syphilis (B) Gonorrhea
(© AIDS (D) Goitre
(i) HIV/AIDS is not transmitted by :
(A) Unprotected sexual intercourse ~ (B) Infected blood

(©) Infected mother to her baby (D) Kissing and hugging
TS ol et U T gl (i) #IR (i) % W fafan|
S ATt WeRHOT (RTIs) 1 ATcad S 3T o TohHo 9 g1 & shwnfat
2t T 1 3SR F o erefral # miaes o § wresdr w St :
TGN Tk Al ¥ g H F=ifid 2 € ok swfere 3% A9
() freAfated & i a1 99 S=ia I (STDs) 7& € 2
(A) fawferE (3ugw)
©) TH
(i) TEMEA. (HIV)/ Ted foras grr =&
A) 3T iR wEm
(C) wshfd T gRT 3T o= I

) T a1 AT |

23. Write TRUE (T) for correct state FALSE (F) for incorrect statement. 1x2

[Attempt any two Parts frem the following questions (i to v)]
(i) HENRY MOSEL &fg'lish Physicist discovered that the ‘“atomic mass’ and not the
‘atomic numb. the fundamental property of elements.

ii) F, Cl, Br,land’A
iii) Metallic

he non-metallic elements called halogens.

r incCreases in a Period from left to right.

ic configuration of an element is 2, 8, 1 then it is a non-metal.

(T) A1 et kA o o s/ (F) fafem)

[ (i) ® (v) | 9 Tl <1 uml & S fefay)

S i VI S S 3 E e 3 S T S e 2o £ A
ShHIh |

F, Cl, Br, | G At 3797 9 &, ST gaiisi hal Sl § |

ot atrerd o =TS | T S W effeersh T[T s

1pm =10"12m

(v) 3afe foret 9 1 soraeifeh famamd 2, 8, 1 € a1 97 31emgsii o idvid o § |

[E]#fm
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24. Match Column - I formula with the right option of Column - II. 1x2
Column -1 Column - II
(1) H,50, (P) Base

(i) NaOH (Q) Aqua Regia
(R) King of Chemicals
(S) Neutral salt

HIcU-1 % A I hicH-11 F T foshedi I faemd |

O

Hidad -1 Hiad - 11
(i) H,SOy (P) &m
(i) NaOH (Q) ugan S
(R) @Ml T TS

(S) 3TN am

25. Fill in the blanks.

1x2

Attempt any two parts from the followi 1 to iv).

(i) A close interaction between
in close physical associati

ifferent organisms of different species living

(i) The rate of a po
per unit time.

is the number of individuals dying per thousand

(i) The process o version of ammonia into nitrates is known as
(iv)
Tt Tl

is the inter-connected food chains.

|
fordl < vl o S faf@u (1) 9 (iv)

3t 9 TH-T & Teod | @A o F9=1 Sfieis o QA Aty Sl & a6y
H S 2|
) ufd TR wHg H ufd g9R SAfFEl § ¥ WA SAfwdEl | 9@ & W HEd ¢

(iii) ST 1 AEee H IRad R ¥ |

(iv) R JE T el wh o T s g

[E]#fm
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26.

27.

UNNATI EDUCATIONS

Write TRUE (T) for correct statement and FALSE (F) for incorrect statements. 1x2
[Attempt any two parts from the following questions (i to iv)]

(i)  Fish and aquatic invertebrates like prawns have gills for respiration.

(i) Penguins have a hump to store fat.

(i) Population growth curves are either J-shaped or S-shaped.

(iv) Abiotic components are the organisms which include plants, animals and micro-

organisms in an eco-system.
|E FHYF I FA (T) T Teld HA &l 318A (F) fafaw |
Frefafed gedi 9 | f8 @ 9l o s fafaw (@) 9 (iv)
(i) TS IR M S el TRIEen! Siral H v o fore fed B T
i) U H 99 % YeRW & A U Fee- B g

(
(i) THfte gfg o ok S A J STHR & B 2|
(

iv) et e § oTSifae ekl o Siaia W, ST qe gawsia emﬁ%‘\
niverse attracts each other

~"

Read the passage carefully. 1x2
According to Newton’s Law of Gravitation, every particle in
with a force. This force is directly proportional to the produ
proportional to the square of the distance between the

Mathematically,

mim
FalZ

iz masses and inversely

T

m, and m, are the masses of the two particle arated by a distance 1,

mym
or F=G —12

r

1s called Universal Gravitational Constant. Its
n the universe.
Nm?kg ~?2

where G is a constant of Propo
value is same everywhere on th
The value of G in SI units js 6.67 X

RIS 1 & § qfeu |
T o THETRY & SRIUE H Ycdeh hUl, Yo O 0T hl Teh o1 g 3ATehfud
FAT Y| T &I, TUFTE % HHIA Bl € T Sk ot <l G o SHGhHTII ordl ¥ |
T ®Y H,

F o1t
' U % TAM €, S Th TR H r g R o §
1‘2

F= G122

T G STuTfdehdl i Teh TRl &, IR 38 Qe Tecla feeri sed 1 39! OH geat w guft
[ we Tegut SrETE H s U ¥

G % SI AT § G & I 6.67 x 10~ 1INm2kg ~ 2 &1l ¥ |

Now attempt any two parts from the following questions (i to iv) :

319 frfafed o9 (1) ¥ (iv) ¥ 9 gl <1 9mi 6 S fafaa

[E]#fm
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SOLUTIONS EXCLUSIVELY ON
UNNATI EDUCATIONS

(i)  What is the force of gravity acting on an object of mass 2000 kg at the earth’s surface ?

(A) F=1962N (B) F=19.62N
(C) F=1962N (D) F=19620 N
Teaft T a8 W 2000 kg ZAHH * fordlt fie W @ o1el TEa dt w1 7 foha S € 2
(A) F=1962N (B) F=19.62N
(C) F=1962N (D) F=19620 N

(i) Two spherical objects have masses of 3.1x 10° kg and 6.5x 10 kg. The gravitati
attraction between them is 65 N. How far apart are their centres ?
(A) 45%x1077m (B) 45.0x1071m
(C) 045%x10°m (D) 450x10~2m
T AR JG3T 1 T2MH 3.1 x 10° kg 3R 6.5x 103 kg T1 Tk HeA
T TR % foRalt W R T?

(A) 45%x1077m (B) 45.0x10°1 \
(C) 0.45x10> m 450x 1072 m

"V

(iii) G is known as universal gravitational constant Why
(A) Its value vary from place to place
(B) Its value is same everywhere
(C) The value of G is very large
(D) The value of G is very small

G ! Href3eh et feerieh el Sl &,

(A) THEHI HM TS F WY Tl @

(B) SHHI | Wl S8 Teh
tween'm; and m, is :

(C) Gl AM 9gd Afer
(D) G 91 9gd %A ‘z?l?lT
(iv) The gravitational f
O

my

mz

oportional to the double of distance between them.
ortional to the square of the distance between them.
irectly proportional to the square of the distance between them.
ctly proportional to the actual distance between them.

d1r

ﬁaﬁaﬁ@%g@%wﬁqﬁ|
37k o= I U o o ok STIHHATIINT |
3k o= I G & M h FiTAHTIT |
Ik o= i Ardfaeh g4 o GfaeiETgardT |

[E]#fm
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SOLUTIONS EXCLUSIVELY ON

28.

UNNATI EDUCATIONS

Read the passage and answer the questions that follow it (i to vii). 1x5
Given below is the circuit diagram to study relationship between Voltage and Current.

T k1 Ygeht fIU T gl o S faf@n ) (i) 9 (vii)
o iR am A Heiy o1 teme e & fag 9w uimy fom feam e @

ICTaY
)=
vVVVV VM
R
- @ + | L / .\ WV\I
2/ | T— 7/
+ k Rh
Attempt any five parts from following questions (i (vii)

ﬁw%rﬁaauﬁ()@(vu)ﬁﬁﬁﬁmwﬁ%w%ﬁam

(i)  In the circuit diagram the voltmeter is connected

A) in series in parall
p

ev
m@ ar combination

(C) in mixed combination

feu T uftay g § ieeHieX et el %
(A)  guft A H
(C) fufsdaswad

(i) Which one of the following sets
their safety ?
(A) Switch, tester and f

Switch, fuse and MC

ot v\ | <&l

evices that are used in electrical circuits for

(B) Tester, fuse and MCB
(D) MCB, switch and tester

ﬁmﬁ@fm@zﬁ Torera wftaeli =l gefar @ & fog 39T =it S € 2
(B) <&, WIS T MCB

W
(D) MCB, %5l W& =X

(iii) The foll bol in the above circuit diagram represents :

f

es1stance (B) Rheostat
Electromagnet (D) Transformer
a T Tcfieh STled ARy st H foan T wefieh 9 e ©

—

—— MAN——
(A) wfaty (B) & fEeh
(©) forga g (D) iR
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SOLUTIONS EXCLUSIVELY ON
UNNATI EDUCATIONS

(iv) Which law, the above circuit diagram represents ?

(A) Joule’s Law of heating effect (B) Kirchhoff’'s Law

(C) Ohm’s Law (D) Coulomb’s Law
Swde Ui s ford fam 1 wefvia o § 2

(A) S 1 A T i (B) fertaie =t frm
(C) s = Frm (D) it it Fram

(v)  Which one of the following is the SI unit of electrical energy ?
(A) Volt ampere (B) Kilowatt hour o
(C) Watt second (D) Joule \
fopetferfd 3 & 1 foree Sofl 1 ST A 2 &
(A) diee TR [EICIE

(B) J
(C) dr e (D)
ory, whichof the following items are

(vi) For the Verification of Ohm’s Law in laborat
required ?
(A) cells, key, resistance wire, voltmet
(B) cells, key, resistance wire,
(C) cells, key, resistance #

(D) cells, key, resistance anometer

Wﬁﬂwﬁaﬁﬁ%ﬁa% % fou fr=afafas 3 9 S 9 U e € ?
¥ TR, . oA |

e, TreaHieR|
¥ AR, SeeH, THe |
. gfay dr, e

one of the following is the unit of potential difference ?

Joule/Coulomb (B) Volt/Coulomb
(C) Ampere/second (D) Ohm meter
frefafad § & & o1 faverr 7w § 2
(A) A/ HA™ (B) dIee / HeA™
(C) THRR / ¥ehe (D) 3H HieX
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SOLUTIONS EXCLUSIVELY ON
UNNATI EDUCATIONS

SECTION -B/@Us - &
29. (i) Write the balanced chemical equation for the following statements. 2
(a) Sodium element reacts with oxygen to form sodium oxide.

(b)  Iron reacts with steam to form iron oxide and hydrogen gas.

frfafaa el & dqfaa Taate aefe fafan |

(a) Hifesm T Ao W Afufran wth Sifeay iedEs s § 1

(b) e & Tfufohan Tk TR sifaRTEe IR TEEISH 1 aA 7
OR / 3terar

(i) What is rust ? Mention any two important conditions required for ru

ST 9 B € 2 S o % fere feRt <1y staerss ufkfeafa

30. Write the molecular formula and draw the structures of the fellowing pounds. 2
(i)  Formic acid (i) Propanone
e few T iRt % 1] o fafe iR St W
(i) iHR T (ii)

31. Write any two postulates proposed by Ni ohr’s Model of hydrogen atom. 2

-

gIESISH LT Hiedl H e iR g

State any two results of a-ray s

QIR g1 & T8 AT &

periment explained by Rutherford.
TN < %h1g &1 IROTH «aq1sy |

32. Explain how a pers et rid of suffering from ‘acidity’ i.e. irritation and occasional pain 2

in the stomac

AT

7?2

fafedt 711 T2 # o 3R wuft-aeft 9 aTel <8 9 Y FeHhRI 1 Fehdl

33. a'solenoid ? Draw a sketch to show the magnetic field pattern produced by a 2
rrying solenoid.

TRt 01 Bt § 2 SIRIaTel IRATIeTehT g1 Sca=1 graehid & Uei o1 <9 & o u
TR

OR / 3{ra
What is an electric generator ? Write the name of its two types.

forega Sif = o 2 for@ S & <1 9ol & - fafaw |

[E]#fm
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SOLUTIONS EXCLUSIVELY ON
UNNATI EDUCATIONS

34. Define the terms : 2
(i) Osmoregulation (ii) Dialysis
71 =1 TR =i
() IR e (i) SHEfArEE

35. (i) Look at the activity given below and answer the questions that follow it :

& QA
= Dil HCI
Phenolphthalein — 0 \

drops L— Test Tube —

—0
o] D

OH

Dil NaOH —— —+— Dil

@ J

A B

(a)  What colour change will you observe i tub 1
(b) What would happen in test tube B ? 1
( 1

c)  What the process occurring in te

= feu U fRamea o S feu

==
FreTgere foema — o 0 T HA
Eﬁ % ﬂ"—\_ T
@3 NaOH — o TNaOH
L/ (-

\ 4 A B
%Aﬁmwhqﬁaﬁ?ﬁf%aﬁﬁ? 1
B ¥ == Brm ? 1

(c) TR@HE B H B el Hisha <hl 1 whed ¢ ? 1
OR / 3teran

Name the constituents of Baking Powder. Why Baking Powder is used but not used

Baking Soda in bakery ?

ST ITSeR o Skl o1 M faf@u | St | Sk TSt 1 STE Sl TR S €, S g
1 T ?

O
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SOLUTIONS EXCLUSIVELY ON
UNNATI EDUCATIONS

36. (a) Write the molecular formula and chemical name of Bleaching Powder. 3
(b) Name the two materials used in the manufacture of Bleaching Powder.

(c)  Write the chemical equation that takes place in the manufacture of Bleaching powder
in Hasen-Clever Plant.

(a) AT UISEX A1 T0] G IR ST T M fafan |
(b) T UREX I & foIu eTevaesk < AHiE % 9 fafaw |
() TEA-FAR I §RI selifei kel & fafor § 2 arelt Tamafte i fafea )

37. (i) Calculate the value of acceleration due to gravity of the earth i.e. ‘g’.
Given : mass of earth = 6 x10?* kg and radius of earth = 6.4 X 10° kg.

Yl o TEETRYTT oh VT @R ie. ‘g’ o HM i TUET SHifSIT

|
feam T B geelt % M = 6 x 1024 kg 3R geat o 52 = 6.4410° kg
OR / 31erar

(i) An object falls from a height and reaches the ground
(a) What is the speed with which it strikes

i
the n

(b)  What is the average speed during the O.SG

(c) What is the height from the ground i was dropped ?

@?aﬁéﬁﬁ@ﬁ'ﬂ?ﬁ%\”ﬁ{o.Ssﬁ Sl %,W]%Iﬁﬂlg=10ms_2

(a) I8 HA H fRa s d

(b) 0.5 s I THH! 3iEd

() IEvHH | fohat Sarg

%’mre of a neuron (nerve cell) and label the following parts 3
(b)  Cell body

() Ax (d) Nucleus
THd IR FE S 39 R Fefafad vmT @ Amifed e |
(a (b)  RIf¥TRI wE
(d) F=F
OR / 3tan
Name the hormone released by thyroid gland. What is its function in our body ?

g =10 ms™2

38. (i) Draw the generaliz
on it.

(a) Dendri

b) Define hyperthyroidism
c) Define hypothyroidism

(
(
(a) 9mRise UfY gRT Efad g 1 W fafey qen gaR TRk # 39 31 & € 2
(b)  srfqemeRised sl aRifid wifs
(c) STCUYPRISS i IRYT ST |

[E]#fm
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SOLUTIONS EXCLUSIVELY ON
UNNATI EDUCATIONS

39. With the help of a line diagram show the chromosomal basis of sex determination in humans. 3

e afed gr1 e sifse for ageil ® Tor-ai & oMaR W fei fruio F3 g g2

40. What is meant by Population dispersal ? Explain in brief about the two types of Population =~ 3

dispersal.

SEE faawor 9 = iy § 2 SHEE I & € YRl o o) § €8 § 9HeE |

41. (i) State the term bio-magnification.

(i) DDT is widely used for crop protection. How is it responsible fo
population of pelicon birds ?

(i) So-3TERA W T AT HIfT | \rﬁ
(ii) WEMT%WDDTWWWW@WW%W&H

ST B9 1 R o1 © 2

reased
qferl i

42. (i) (a) Define dispersion of white light throughag ri raw a diagram to illustrate 5
it.
(b)  Which of the colours bends least an i ends the most ?

()  Why does prism show dispersio
(a) i % T 511 EM 9t vaa-

ight ?
Rt swifse | Tes fost gRT 39 9she

1 e T |
(b) I AT = 1 3fereRay ?
(c) i 1 T waa- ERIC | I
OR / 3{ar
(i) (a) Draw d&& following lenses : 2
Double*Co Plano Convex, Double Concave, Convexo Concave
(b) Dr iagrams showing the following : 3
m e
etropic eye
-“relaxed eye
ol % IRE T
et =l g9 aTel T Gife
- fre gfe g ==
- e g =
- fagia 1=
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SOLUTIONS EXCLUSIVELY ON
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43. (i) Part of the Modern Periodic table is given below where the atomic numbers of the 5
elements of Group “A” and ‘B’ are given in the Parentheses :
Group ‘A’ Group ‘B’
Li (3) Be (4)
Na (11) Mg (12)
K (19) Ca (20)
Rb (37) Sr (38)
Give the electronic configuration of ‘Ca’.
Write the number of valence electrons in the atom ‘K.
What is the total number of shells in the atom of ‘Na’ ?
Arrange the elements of Group ‘B’ in the increasing order of their
State whether ‘Rb’ is a metal or non-metal.
(f)  Out of Na, Li, Be and Mg which has the biggest atom in size ?

e aTyfes aTrerd W 1 ek W feen wen , o wg-ar ik

e s B S T

g -3
2 ShH H AT hifoTT |

NURONEIRCIRC)

(
(
(
(
(

®

Li (3)
Na (11) Mg 12
K (19) Ca
Rb (37)
‘Ca’ o1 Soraeii-eh fa=ame faf@m |
‘K’ o TXeT9] | foha HarSehdt
‘Na’ & 9] § Fal foha v € 2
TE-9 % dcl h TTH
‘Rb’ 4Tg T 1 3791q ?

EYOICHC)

AAA?AAAA
~—

f)  Na, Li, Be 3R Mg # 1 TTES feehaH § 2
(i) (a) Why do elements of t group have similar properties ?
b) How does the atomic size of elements vary in a period with increase in atomic
number ? son.
() Forelt Kl T A A E 2
(b) W H&A 9 ¥ T o T Sl STHR (F1es) fohe TepR Iiafda grn

OR / 31wl
(iii) dern Periodic table has been evolved through the early attempts of
einer, Newland and Mendeleev. List one advantage and one limitation of
1l the three attempts.

efine atomic number ‘Z’ of an element.
State Modern Periodic Law.

0 MY eTad AR 1 faeh SR, =[eive AR HUSad o YR JATE! & J1ead
(b)

Y forean T 1 T TS Y Th-Ush STAfe 3R W i geieg it
fordt q bt TRET] T ‘77 st gk S|
(c) snyfTer afrerd 1w =1 Secra HIfST |

-00o0-
E#E
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